

$$a) 36 m^8 n^7 \div -2 m^2 n^5 = \frac{36 m^8 n^7}{-2 m^2 n^5} = -18 m^6 n^2$$

$$b) 35 x^5 y^3 \div 7 x^2 y = \frac{\boxed{} \boxed{} \boxed{} \boxed{} \boxed{} \boxed{}}{\boxed{} \boxed{}} = \boxed{} \boxed{} \boxed{} \boxed{} \boxed{}$$

$$(9m^2n - 12m) \div (-3m) = \frac{\begin{array}{ccccccc} \boxed{} & \boxed{} & \boxed{} & \boxed{} & \boxed{} & \boxed{} & \boxed{} \\ \boxed{} & \boxed{} & \boxed{} & \boxed{} & \boxed{} & \boxed{} & \boxed{} \end{array}}{\begin{array}{cc} - & \boxed{} \end{array}} = - \begin{array}{cccc} \boxed{} & \boxed{} & \boxed{} & \boxed{} \end{array}$$

1	2	3	4	5
---	---	---	---	---

Bajar el siguiente Término del Dividendo.

$$\begin{array}{r}
 6a^2 - ab - 2b^2 \\
 \hline
 - \quad \quad \quad - 2b^2 \\
 + \quad \quad \quad + 2b^2 \\
 \hline
 \end{array}
 \quad
 \begin{array}{r}
 2a + b \\
 \hline
 \frac{6a^2}{2a} = \\
 \frac{-4ab}{2a} =
 \end{array}$$